NO.

ANSWER

The argument talks about how keeping your teeth clean can reduce problems, such as tooth decay, toothaches, gum
diseases, infections, and more. Such prevention is an indication of maintaining healthy and hygienic teeth.

Option B is the correct answer.

The argument states that by doing laundry at home, one can save money compared to when they have their dirty clothes
washed at a laundry shop. The statement in option A strengthens it by comparing how much one would spend if they go to
a laundry shop and when they choose to do it at home. It suggests that more money can be saved if they would choose to
do their laundry at home. Option A is the correct answer.

Johnson tried to respond to Anna’s claim by attacking her status as an engineer. It does not logically refute Anna's claim
regarding her ability to teach kids how to sing. Johnson commits an Ad Hominem fallacy. Option C is the correct answer.

It can be properly concluded that a doctor's prescription is important and should be followed because eye drops can cure a
lot of eye disorders. The statements in the other options are all incorrect because they offer little relevance to the topic
being discussed. Option C is the correct answer.

The fourth digitis3=___3
The second digit is the same as the fourth digit=_3 _3 _
The first digit is thrice the second digit=93 _3 _ _

The third digit is seven=9373 _ _

The last digit is minus 4 of the fifth digit/One digitis1=937351

note: the fifth digit must be one that can be subtracted by 4 and will result to 1

The fifth digit is 5. Option C is the correct answer.

Initial positions:
Calculator - Black Ballpen - Highlighter - Laptop - Pad Paper - Red Marker

Reversed positions:
Red Marker - Pad Paper - Laptop - Highlighter - Black Ballpen - Calculator

Since there are six items, the centre will be positions 3 and 4, which are the positions of the laptop and the highlighter.

Position 3 - Highlighter
Position 4 - Laptop

When reversed

Position 3: Laptop
Position 4: Highlighter

Option D is the correct answer.



“No one was before Keith” means that Keith placed first.

“Damian was in 4th place”.

“Harry came immediately before Clark” means that Harry is in second place.

“Clark beat 2 people” means he is in third place and beat Damian and another person.
The only remaining position is 5th place. Therefore, Alex placed last (5th).

Keith > Harry > Clark > Damian > Alex

Option D is the correct answer.

We first have to identify how many milkshakes Tristan sold. We can figure this out by dividing the total amount of money he
earned by the selling price of one milkshake.

$348 /%12 = 29
Since each milkshake requires about 3 cups of milk, we have to multiply the total number of milkshakes sold by 3.
29x3 = 87 cups of milk were used in total.

Option C is the correct answer.

Since her grandmother chose Tiramisu and Mango, it means that she can no longer choose the Marble flavour because it is
in the same list as Tiramisu and Mango. Both flavours are not available in any other lists.

List 1 List 2 List 3
Red Velvet Tiramisu Marble
Chocolate Chiffon Chocolate

Carrot Marble Mango

Chiffon Red Velvet Carrot

Option A is the correct answer.

- Option Ais not the answer since it has a total of 6 sides.
- Option Cis not the answer since the triangles are smaller than the given figure.
- Option D is not the answer since it has a total of 7 sides.

Option B is the correct answer.
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Pairing with salt is conditional upon Donny eating guava. Since it is known that “every time Donny eats guava, he pairs it
with salt”, then forming the contrapositive of the conditional statement is the same as saying, “Whenever Donny eats food
and does not pair it with salt, that food must not be guava.”

Option A is the correct answer.

The statement in option C best expresses the flaw in the argument. Even though there is no logical proof to support the
claim, Harvey's father still believes that not eating breakfast would lead to a chain of future events like not being able to
answer exam questions, not obtaining a diploma to get a job and other things which could lead to a bad outcome of
becoming poor.

Option C is the correct answer.

Go backward from the third position. Open the fold and mirror the hole with respect to the dotted line. Fold the paper
consecutively.

Every time you open the fold, mirror the punch.
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Option A is the correct answer.

The main argument claims that offering higher wages and training will solve the shortage of health care workers in Australia.
The best statement that strengthens it is Option A since it explains the incentive of employees on picking what kind of job
they will apply for. Although Option D does not clash with the argument, it offers minimal relevance in strengthening it since
it only proves how wages impact the extravagant lifestyle of medical professionals.

Thus, A is the correct answer.

The most important points of the main argument are the pre-workout supplements, their purpose, and why people find it
hard to understand their effectiveness. The statement in option D was able to identify these points and was also able to
determine and state the connections between them. It states that an improved workout is the result of these supplements
but the thing is people are lacking research which is why some people find it hard to determine the effectiveness of these
pre-workout supplements.

Option D is the correct answer.
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Truffles

Cereals

Biscuits

Pasta

The diagram shown above follows the given statements about the answers of parents regarding the essential snacks their
children should bring to school. As seen in the diagram, only conclusion | follows as some who answered pasta also
answered cereals. However, in the given answer option, there are no options that indicate “Conclusion | only”. Although it
was mentioned in option C, this answer option cannot be the correct answer since conclusion IV does not follow since only
some who answered cereals also answered pasta. Therefore, none of the options follows.

Option D is the correct answer.

Fury is correct since the condition only implies that some agents of Shield wear outfits in the colours black and red. He was
diligent in following this condition by saying that a person who wears black and red outfits doesn’t automatically make an
agent of Shield since they could be classified as another kind of superhero.

Maltis is correct because according to the conditions, some agents of Shield fight villains from outer space. Agents of Shield
are also said to be famous.

Both Fury and Maltis are correct.

Option C is the correct answer.

Option A is not true, as there is no indication that Mike visited the theatre. Even if it is likely, it does not definitively prove he
was there. Option B is also not true because even if everyone who visited the theatre cried, crying about the play’s ending
does not only happen at the theatre. Option D is also not true since the statement does not indicate that it is the action of
visiting the theatre which causes people to cry at the play’s ending.

Option Cis true because it is the contrapositive of the statement. This means that if a person did not meet the necessary
condition of crying at the play’s ending, then they definitely did not visit the theatre.

Therefore, C is the correct answer.



19 Based on the pie chart shown, two portions are of the same size. Therefore, by the rule of elimination, neither option C nor
D should be the correct answer. along with these two equal parts, there should be a bigger size — bigger than half the size

of the pie.

Anika does not have any ratings that are more than, let alone equal to, half of her total ratings. Oliver, on the other hand,
has rated one of the breeds 57, which is more than half of his total ratings.

7.0%

Maltese

Shih Tzu

Beagle
Therefore, B is the correct answer.
20 Option B fits perfectly with the given figure to form a cube. Parts encircled with the same colour are pairs of parts that fit

together perfectly.

Option B is the correct answer.
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1,000 934

810

Monday Tuesday Wednesday Thursday Friday

Among all the given tables, option A best represents the data in the bar chart. Option A is the correct answer.

22
LETTER KEY KEY LETTERS NO. OF PRESSES
Vv 8 TUV 3
A 2 ABC 1
N 6 MNO 2
| 4 GHI 3
L 5 JKL 3
L 5 JKL 3
A 2 ABC 1
KEY TOTAL NO. OF PRESSES

8 3

6 2

5 6

4 3

2 2

Option C is the correct answer.
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Because of the usage of the word "might," it forwards the idea that there are individuals other than police officers who are
permitted to possess firearms. Therefore, option A is incorrect. Options B and D also go against the condition set in the
statement. Only option C supports Morbius’ statement since it mentions that a person who is prohibited from possessing a
firearm is unquestionably not a police officer.

Option C is the correct answer.

Matt's reasoning is incorrect because using parallel model techniques does not automatically make one a debater. On the
other hand, Brylle’s reasoning is correct because he is only stating the possibility rather than the absolute certainty that
Athena could be a debater because she speaks loudly and uses parallel model techniques.

Option A is the correct answer.

Cherry’s mistake was assuming that she would achieve Celine Dion's voice range by consuming herbal juice. Her assumption
was primarily based on Celine Dion's own statements — the statement of the person she supports.

Option B is the correct answer.

Option A is the Top View of the Figure.

Option B cannot be the Top View of the Figure because of a missing fillet line.
Option C is the Left View of the Figure but there shouldn’t be a line.

Option D is the Left View of the Figure but there shouldn’t be a line.

Option A is the correct answer.

The correct illustration of the assembly of the house can only be either from these two combinations:

Combination 1 Combination 2
Red front roof White front roof
White front wall + window Grey front wall + window
Grey side wall Grey side wall
Grey side roof Red side roof

W

Option C matches with Combination 1. Option C is the correct answer.



28 The passage indicates that talking to a lot of friends allows us to learn many things from their expertise and insights. Option
C best strengthens this argument by implying that the different experiences and perspectives of our friends will serve us as
a good catalyst for our personal growth.

Option C is the correct answer.

29 The argument talks about how friendships bring people a great sense of security. Option C best strengthens this claim by
providing an explanation as to why the argument is necessarily true. When a deep bond is created between friends, they
often feel a sense of assurance or security that someone will always be there when things go downhill.

Option C is the correct answer.

30 The most expensive options are as follows:
ITEM VARIATION PRICE
Aluminium Sheet 1100 Aluminium S22 x2 =544
Plywood A - Grade S12 x4 =548
Gloves Bob the Builder Luxury Set $10
Protective Eyewear Johnson’s Eyewear $8
TOTAL $110

Option C is the correct answer.



